
9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7
P.: 514.523.1339   F.: 514.525.6107  www.iguzzini.com/us

IMPORTANT - READ CAREFULLY BEFORE INSTALLING FIXTURE. RETAIN THESE INSTRUCTIONS FOR FUTURE REFERENCE. 
THIS PRODUCT MUST BE INSTALLED IN ACCORDANCE WITH THE NATIONAL ELECTRICAL CODE AND ALL APPLICABLE LOCAL CODES, BY A PERSON FAMILIAR WITH THE 
CONSTRUCTION AND OPERATION OF THE PRODUCT, AND THE HAZARDS INVOLVED. PROPER GROUNDING IS REQUIRED FOR SAFETY.

INSTRUCTIONS SHEET PAGE: 1 of 2Easy Space 
ROUND TRIM MODEL: IESP096 / IESP153 / IESP212 - NC - 120 / 277V 

INS-XXX DM - R0Last update: April 10, 2024

PLASTER FRAME

BA

A- ENGAGE (4) HANGER BARS IN HOUSING SLOTS AVAILABLE AND CONNECT THEM TOGETHER.
B- FASTEN HANGER BARS TO CEILING BRACE WITH #8 SCREWS (NOT INCLUDED). HOUSING MUST BE FLUSH WITH CEILING BRACE AND
 INSURE SMALL FOLDED TAB IS PLACED UNDER CEILING BRACE.
C- MAKE THE CUT-OUT OPENING (SEE DIMENSIONS BELOW).

HANGER BARS
MOUNTING SLOT

C

#8 SCREW
(NOT INCLUDED)

FOLDED TAB
CEILING BRACE

NEW CONSTRUCTION PLASTER FRAME INSTALLATION (NC) - TRIM ONLY

Ø 3³/ " (Ø 96mm)

Ø 6" (Ø 153mm)

Ø8³/ " (Ø 212mm)

BNIESP096RT-NC

BNIESP153RT-NC

BNIESP212RT-NC

TBC

IESP096

IESP153

IESP212

Cut-out dimensions (A)Plaster Frame ClearanceCeiling thicknessModel

0.04"-1" (1-25mm)

Cut-out dimensions (A)Plaster Frame ClearanceCeiling thicknessModel

CUT-OUT

CUT-OUT

IESP096 IESP153

IESP212

CUT-OUT



BX CABLE
(NOT INCLUDED)

9320 Boul. St-Laurent, suite 100, Montréal (Québec) Canada H2N 1N7
P.: 514.523.1339   F.: 514.525.6107  www.iguzzini.com/us

E + F

#8 SCREWS
(NOT INCLUDED)

FOLDED TAB

A + B 

E- FASTEN HANGER BARS TO CEILING BRACE WITH #8 SCREWS (NOT INCLUDED). HOUSING MUST BE FLUSH WITH
 THE BOTTOM OF THE CEILING BRACES.
F- INSTALL THE DRYWALL AND MAKE THE CUT-OUT OPENING (SEE DIMENSIONS BELOW).

INSTRUCTIONS SHEET PAGE: 2 of 2Easy Space 
DOWNLIGHT TRIM / ROUND MODEL: IESP096 / IESP153 / IESP212 - NC - 120 / 277V  

FIXTURE INSTALLATION (TRIM ONLY)

A- INSERT THE DRIVER BOX INTO THE CUT-OUT.
B- HOLD THE (2) CLIPS UPWARD AND INSERT FIXTURE INTO THE CUT-OUT.
*FOR MAINTENANCE, PULL THE FIXTURE OUT OF THE CUT-OUT.

INS-XXX DM - R0Last update: April 10, 2024

BX CABLE
(NOT INCLUDED)

A

B

FIXTURE

CLIPS

DRIVER BOX


